

































ULTER UNALISE	Example							
	House Price in \$1000s	Square Feet						
	245	1400						
	312	1400						
	279	1700						
	308	1875						
	199	1100						
	219	1550						
	405	2350						
	324	2450						
	319	1425						
	255	1700						
			1 -1-1-1 <u>- 19</u>					

6	UNVERSITI TEKNOLOGI MALAYSIA	E	Example					
	у	X	ху	х ²				
	245	1400	343000	1960000				
	312	1600	499200	2560000				
	279	1700	474300	2890000				
	308	1875	577500	3515625				
	199	1100	218900	1210000				
	219	1550	339450	2402500				
	405	2350	951750	5522500				
	324	2450	793800	6002500				
	319	1425	454575	2030625				
	255	1700	433500	2890000				
	Σy=2865	∑x= 17150	∑xy= 5085975	$\Sigma x^2 = 30983750$				
	www.utm.my innovative							



























Example							
House Price in \$1000s (y)	Square Feet (x)	ŷ	$(\hat{y}-\overline{y})^2$	$(y_i - \overline{y})^2$	$\hat{y} = 98.248 + 0.110x$ $\sum y = 2865$		
245	1400	252.25	1173.06	1722.25	$\overline{y} = \frac{1}{n} = \frac{1}{10} = 286.5$		
312	1600	274.25	150.06	650.25	5		
279	1700	285.25	18.06	56.25	$SSR = \sum (\hat{y} - \bar{y})^2 = 19033.22$		
308	1875	304.50	324	462.25			
199	1100	219.25	4522.56	7656.25	$SST = \sum (y_i - \bar{y})^2 = 13667.23$		
219	1550	268.75	315.05	4556.25			
405	2350	356.75	4935.06	14042.25	$R^2 = \frac{SSR}{SST} = \frac{19033.22}{31700.5} = 0.60$		
324	2450	367.75	6601.56	1406.25			
319	1425	255.00	992.25	1056.25	60% of the variation in		
255	1700	285.25	1.56	992.25	variation in square feet		
	www.	utm.my			innovative e entrepreneurial global 33		









Starting Street		Inference about the Slope:					
			t lest				
	House Price in \$1000s (y)	Square Feet (x)	(continued) Estimated Regression Equation:				
	245	1400	$\hat{v} = 98.248 + 0.110x$				
	312	1600	y				
	279	1700					
	308	1875	The slope of this model is 0.110				
	199	1100					
	219	1550	Does square tootage of the				
	405	2350	house affect its sales price?				
	324	2450					
	319	1425	A Second				
	255	1700	(inc)				
	www	w.utm.my	innovative e entrepreneurial global ³⁸				





0	Exercise 1										
	Representative data on x = carbonation depth (in millimeters) and y = strength (in mega pascals) for a sample of concrete core specimens taken from a particular building were read from a plot in the article "The Carbonation of Concrete Structures in the Tropical Environment of Singapore" (Magazine of Concrete Research [1996]: 293-300);										
	Depth, <i>x</i>	8	20	20	30	35	40	50	55	65	
	Strength, 22.8 17.1 21.1 16.1 13.4 12.4 11.4 9.7 6.8										
	www.utm.my innovative • entrepreneurial • global 41										





0	Exercise 2								
	Property	Sale Price (millions of dollars)	Size (thousands of sq. ft.)	Land-to-Building Ratio					
	1	10.6	2166	2.0					
	2	2.6	751	3.5					
	3	30.5	2422	3.6					
	4	1.8	224	4.7					
	5	20.0	3917	1.7					
	6	8.0	2866	2.3					
	7	10.0	1698	3.1					
	8	6.7	1046	4.8					
	9	5.8	1108	7.6					
	10	4.5	405	17.2					
	www.utm	i.my	innovative • en	trepreneurial global					

